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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTs fAERE e PR Teq fo4

(a) Which measure of central tendency is
known as positional average?

PN RN FFO (TR TR o Jfe
Sl AR 2

(b) What is the SD of the following values?
7.7,7,7, 7
T JCANS WS {5t 5 2
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(d)

(e)

(g)

(h)

G)
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(2)

What is meant by ‘Kurtosis’?
‘Tgn Jeol” Jferee g 2

What does r =0 signify?
r=0 R IS IR

Define a random variable.

s Hored il el |

In a Poisson distribution mean =7,
variance = 8.

(Write True or False)
«B1 “HD’ IBTS 9T = 7, PR = 8.
(W= 1 Srem forem)
E(c) = ?, where c is a constant.
E(c) = ? TS ¢ (&R 90! &F45 |
If P(A or B) = P(A)+ P(B)- P(An B), then

what will be the nature of the events
A and B?

% P(A 9Za  B) = P(A) + P(B)- P(An B),
(T2 ATE B (FCA AP K641 2

What is joint probability distribution?
e SeifEel fesd % 2

When does a sampling error arise?

AifSwae T T 2'F AT 2

( Continued )

2. Answer the following questions :

(3)

WW%@W;

(@)

(b)

()

(@)

(e)

22A/41

For any two unequal positive numbers
a and b, prove that AM > GM.

RPN YB1 P RS TR a JE B IS
1 $91 & AM > GM.

What is the probability that a non-leap
year will contain 53 Fridays?

GBl SEI-SEHY R 530 WEdN  CIRE
Seifder [ 2

If the covariance between x and Yy
variables is 12 and variances are 16 and
9 respectively, find the correlation
coefficient between x and y .

A x W€ y Yol 5opq A 12 | T R
THEE 16 F 9 T, (O Hoeor T
SRR Sfered] |

If X; is a random variable with
respective  frequencies  f;,  where
i=1 2 3, -, n, show that E(X)=X.
Tt X; < IS bore =W TR IR f; =,
e i=1,23, -, n, (R (S A
E(X) = X.
Mention two
sampling.

Tfoes AR 701 ~i@fs Sears F4 |

methods of random
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(4)

3. Answer any four of the following questions :

5x4=20
were il 2pied e viRbm Tes fore -

fa) Find the first four moments about the
mean from the following distribution : 5

o9 RO N9 o[ f2w SIRG e
%ﬁ[@?ﬂ:

Heights (inch) : 60-62 63-65 66-68 69-71 72-74
T (2f4)

Frequency : 5 18 42 27 8
EISECISICl

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and -1. 5

ST @ I IR a2 +1 I
~13 T AT |

() Define conditional probability. If
P(A)=0-4, PB)=0-7 and P (at least
one of A or B) =0-8, find P (only one of
A and B). 2+3=5

ST STEIfed el fran | 3 PA) = 0.4,
P(B)=0-7 9F P (F940% A =231 BY 95)
=0-8 T, (=120 P (A W& Bd R
9o1)T eIl Sferea |

22A/41 ( Continued )

(5)

(d) A random variable X has the following
probability distribution :

9Bl AR TEE X @ o WISl 359

o I 93 -
X : 4 5 6 8 9 11
P : 01 03 04 02 05 03
Find mean and variance. 5

T & 299 Sferear |

fe) Explain the principal steps of a sample
survey. S

e rafos (Rfen w9 SEmT 347 |

Answer any four of the following questions :
10x4=40

o RGP w61 og Teg fopey

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :

e e 2 TR [fen @Ee {2 o1
ST *1 &PTEe Bfeea

Age (years) : 20-30 3040 40-50 50-60 60-70
7777 (I29)
No. of persons : 170 110 80 45 40
=T A
Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10
RoEE| @ e wme s o @RI
27?
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(b)

22A/41

(6)

Distinguish  between positive and
negative correlation. Find the rank
correlation between X and Y from the
following table :

I S YN TETIRd Y o | oo
gl OFRR M X W Y4 G T
Tfered :

e 15 291 13710 Chgs 228 88 13 32
¥ o 021020493118 ., 19 25,4y 16415

Analyze the result.
Folre Qe F40

State and prove Baye’s theorem of
probability. An urn contains 10 white, 6
black and 3 red balls. 3 balls are drawn
in succession. What is the probability
that they are drawn in the order of
black, red and white if the balls are not

replaced after each draw? 5+5=10

SEIfier @'3 AT TS AR eI I | 3
51 Zerme 1051 957, 651 F& WF 361 T8 I
A o€ R “4 9Bl “orE 01 77 o =y
o ofecsr 38 SR ES 9 FeRe Y9
fil 2y, (OCTR T T Fell, I8 WIF 40
5 SE Al FHE 2

( Continued )

3+5+2=10

(7)

(d) Obtain the constants of a Binomial

(e)

22A/41

distribution. In an intelligence test of
1000 childrens, the average was 42 and
SD was 24.

(i) Find the number of children
exceeding a score of 50.

(i) Find the number of children lying
between scores 30 and 54.

(i) Find the value of score exceeded by
the top 100 children.

fe® 3% B9 TeEE Sfredr 1 1000 BrsF

fEwal # GBre 5T T+ 42 HF T [
24,

(i) 509F SffF T99 i@ PReg SpAm
Sfere |

(i) 30 WF 547 e 799 (A1 FReF 4
Sferer |

(iii) FREF T34 i@ 100 & FrReg SR
e |

P(0 < z<-33)=0-1293,
P(0 < z<-5)=0-30854

(i) Distinguish between probability
mass function and probability
density function.

( Turn Over )
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(ii)

(iii)

()

(i)

(iti)

(8]

A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
1, 1 and I respectively. What is the
probability that the problem will be
solved?

Under what conditions Binomial
distribution tends to normal

distribution? 3+4+3=10

%Q\SIWWW%H%@ To'§ Fefaq
oqrefsy fore |

T e RS 9O 7F A, B §F C
STHIE PEA frw =W WF SWgW 91
weRe W w1, L oww Lo,
(SZ’E ATV TR @R TSIl
e 2

@ @ 599 HHRS fGem 359 HYR
I%ec IS 27

Explain the different types of sampling
with their relative merits and demerits.

eifovTe RiSH AR Seef®s g8 R ts
SCAAT 1 | '
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